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18FE || 5,396 2.6| 2,045 0.9/ 2.64] 14,635 3.5( 7,628 1.0/ 1.92)f 801 -4.0[ 39.2
195 | 5493 1.8{ 2,038 -0.4|2.70] 15,151 3.5 7,794 2.2/ 1.94] 803 0.2 39.4
205 E | 4,946 -10.0( 2,313 13.5[ 2.14| 13,446: -11.3| 8,466 8.6| 1.59] 840: 4.6| 36.3
21 F | 3,844,-22.3| 2,621 13.3| 1.47| 9,674 -28.1{10,321. 21.9{ 0.94| 988: 17.6| 37.7
22 | 4,255 10.7| 2,818 7.5/ 1.51] 10,690: 10.5{10,832: 4.9/ 0.991,069: 8.2| 37.9
21/4~6| 3,925 -26.3| 2,948 15.6| 1.33| 10,318 -29.9(11,109: 26.1| 0.93| 1,049 12.8| 35.6
21/7 ~9| 3,567 -30.1| 2,431 19.8| 1.47| 9,327 -32.3(10,365: 27.1| 0.90] 937 19.1| 38.5
21/10~12| 3,802 -18.1| 2,261 19.2| 1.68| 9,265 -29.7| 9,955: 25.0| 0.93] 957 20.9| 42.3
22/1~3| 4,082 -13.4| 2,844 2. 4| 1.44] 9,786 -19.2| 9,856: 10.3| 0.99 1,009 18.3| 35.5
22/4~6| 3,726 -5.1| 3,366 14.2| 1.11] 9,571 -7.2(11,909. 7.2| 0.80[ 1,157 10.3| 34.4
22/7~9| 4,505 26.3| 2,752 13.2| 1.64} 10,704 14.8(11,141. 7.5/ 0.96[ 1,073 14.5| 39.0
22/10~12|| 3,960 4.2 2,346 3.8/ 1.69| 11,078 19.6(10,316: 3.6/ 1.071,039 8.6 44.3
23/1~3| 4,831 18.4| 2,807 -1.3| 1.72| 11,406 16.6| 9,960: 1.1| 1.15[1,006 -0.2| 35.9
23/4~6| 4,450 19.4| 3,327 -1.2| 1.34] 11,785 23.1[11,723: -1.6] 1.01 1,174 1.5 35.3
2248 | 3,817 -2.3| 41311 11.7/0.92| 10,018 -7.3|11,870: 6.7| 0.84| 1,155: 17.6| 28.0
58| 3,710 5.5 3,007 12.6[ 1.23] 9,440 -6.9(11,928: 6.6/ 0.79/1,078 6.9| 35.8
6 8 | 3,650:-16.1| 2,960: 19.5[ 1.23] 9,256 -7.5(11,929. 8.3 0.78)1,237. 7.0/ 41.8
78 4,839 21.6| 2,581 8.3[1.87| 10,049 4.4{11,302 6.8] 0.89|1,100: 13.3| 42.6
8H | 3,832: 18.7| 2,654 19.9( 1.44| 10,358 11.1{10,992: 8.6 0.94/1,004. 17.4| 37.8
9R | 4,843 38.7| 3,021} 12.0[ 1.60| 11,706: 29.5{11,130¢ 7.1 1.05 1,114 13.2| 36.9
108 || 4,573; 14.2| 2,681 -4.5| 1. 71 11,773;: 29.3|10,955. 2.9 1.07| 1,147 15.9| 42.8
1M1A | 3,832 -4.2| 2,514 18.1| 1.52] 11,367: 18.5/10,530: 4.8(1.08) 1,078 8.2 42.9
128 | 3,476: 2.3| 1,844 -0.3| 1.89] 10,095: 11.0| 9,462 3.1/ 1.07| 893: 1.0 48.4
2321 A | 4,805 16.5| 2,795 -2.9| 1.72| 10,486: 11.6| 9,689 3.3/ 1.08] 873: 0.0/ 31.2
28| 4,417: 7.0| 2,659 3.1({1.66| 11,119. 13.2| 9,782; 1.2|1.14] 968 3.1| 36.4
38| 52711 32.0{ 2,966} -3.6| 1.78| 12,614 24.4{10,409 -1.1] 1.21 1,178} -3.0] 39.7
23248 | 4,316 13.1| 4,070: -1.5/ 1.06| 11,994. 19.7(11,621. -2.1| 1.03|( 1,105 -4.3| 27.1
581 4073: 9.8 2,982: -0.8( 1.37| 11,460: 21.4|11,777; -1.3| 0.97(1,123: 4.2| 31.7
68| 4961 35.9| 2,928; 1.1 1.69| 11,901: 28.6{11,771: -1.3| 1.01[1,294; 4.6| 44.2
78 4,467: -7.7| 2,298 -11.0( 1.94| 11,527 14.7{10,943: -3.2| 1.05[ 1,137 3.4| 49.5
8H | 4,662: 21.7| 2,551 -3.9(1.83| 11,823: 14.1{10,526: -4.2| 1.12| 957 -4.7| 31.5
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